Lattice Multiplication (F)

79 X

878

57 X

820

95 X

639

Use lattice multiplication to find each product.

24 x 343 =

50 x 859

60 x 855

i 4 5 3
3 2 2
4 2 0
3 6 8
2 0 3 3
8 5 ’
5 3 6
9 0 2
= 20 X 530 = 3350068 =
0 0 1 5
8 5 |
5 3 5
5 1 3
= 90 x 53l 15 x 128 =
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Lattice Multiplication (F) Answers

Use lattice multiplication to find each product.

2 4 4 4 15 03
2
0 1 A 5 010 1 5 0
o 6,/ 2 o 8,8 A5
0
01 4 010 /] 5 00
8, 8/ 6 o, 8,8 5
8
011 A 5 > 2 6 o o
2 6/ 2 o 4, 4 —
3 2 4 4
53 x 208 =

T 24 %343 =28,232 44 x226=9,944 11,024

45 00 12 00 3 3
J 008 0 0 00 60 |2
yAVAE A I 1
2 5, 0 o, 6, 0 e 86
4 0 9 0 0 0 . :
ol 5 0 6,/ 0, 0 4 |8
oY vy 4 4
= 50 x 859 = 20 x 530 B
42,950 10,600 33 X268 = 8,844
46 00 49 00 15
s s, o ® W5 03 0,10
o/ 1/ 5
YOVEE 20013 0 /1
1 0 0 7 7 0 )
127 0
3 /10 ] s 0 10 2
370,70 71,79, 0 ol e ik
0 0 9 0 Y
— 60 x 855 = 90 x 531 = B
51,300 47.790 15%x 128 = 1,920
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